
B

EXISTING COLUMN 
TO REMAIN, TYP

EXISTING COLUMN FOOTING 
TO REMAIN, TYP

EXISTING CONC SLAB-ON-
GRADE TO REMAIN; FF EL 
= 100'-0"

INFILL EXISTING OPENING WITH NEW 12" CMU AND BRICK VENEER 
TO MATCH EXISTING; REINFORCE INFILL WITH (1) #5 VERT AT END 
CELLS AND 24" OC IN BETWEEN; PROVIDE #5 x 1'-4" DOWEL AT 
BOTTOM OF REINFORCED CELLS; DRILL AND EMBED 4" INTO 
EXISTING CMU WITH HILTI HIT-HY 270 ADHESIVE; REF 8-S5.0 FOR 
DETAIL AT EXISTING STEEL LINTEL ABOVE (FIELD VERIFY)  

4

S5.0

16' - 0"

3

S5.0

5' - 4"

C

D

E

F

G

H

J

K

1 2 3 4 5 6 7 8 9 10 11

B.1

1
S5.0

S5.0
2SIM

S5.0
2 SIM

OH

4'-6" 27'-8"

10

S5.0

1
S5.0

S5.0
2

S5.0
2

INFILL EXISTING OPENING WITH 8" CMU AND BRICK VENEER TO MATCH 
EXISTING; ALIGN OUTSIDE FACE OF NEW CMU WITH OUTSIDE FACE OF 
EXISTING CMU REINFORCE INFILL WITH (1) #5 VERT AT END CELLS AND 24" OC 
IN BETWEEN; PROVIDE #5 x 1'-4" DOWEL AT BOTTOM OF REINFORCED CELLS; 
DRILL AND EMBED 4" INTO EXISTING CMU WITH HILTI HIT-HY 270 ADHESIVE; 
REF 8-S5.0 FOR DETAIL AT EXISTING STEEL LINTEL ABOVE (FIELD VERIFY)  

EXISTING 12" CMU 
WALL WITH BRICK 
VENEER TO REMAIN

7

S5.0

7

S5.0

7

S5.0

7

S5.0

6

S5.0

6

S5.0

REMOVE TOP SLAB OF 
EXISTING FREEZER SLAB; 
EXISTING SUBSLAB TO 
REMAIN 

REF ARCH FOR EXACT 
LOCATION AND SIZE OF 
NEW FREEZER 
EXTENSION

11

S5.0

11

S5.0

NEW HSS4x4x1/4

NEW HSS4x4x1/4

4
' 
- 

8
"

5
' 
- 

0
" C

L
 

N
E

W
 

C
O

L

C
L

 
N

E
W

 
C

O
L

C
L 

R
E
M

O
V
E
D
 

C
O

L

3

S5.0

REMOVE EXISTING COLUMN; REF 
6-S5.2 FOR EXISTING JOIST 
GIRDER SUPPORT ABOVE 

REMOVE EXISTING 
12" CMU WALL TO 8" 
BELOW FF EL

REMOVE EXISTING 
12" CMU WALL TO 8" 
BELOW FF EL

3

S5.0

NEW HSS6x6x3/8

C
L

 
N

E
W

 
C

O
L

11

S5.0

3

S5.0

EXISTING 10" CMU 
WALL TO REMAIN 

REF 1-S5.2 FOR EXISTING BEAM 
SUPPORT ABOVE 

EXISTING 12" CMU 
WALL TO REMAIN 

EXISTING 8" CMU WALL 
WITH BRICK VENEER TO 
REMAIN 

SIM

OH

8' - 0"

10

S5.0

4' - 0"

1

S5.0
S5.0

2

S5.0
2

OH

NEW RECESSED SLAB FOR QUARRY 
TILE; REF 5-S5.0; REF ARCH FOR 
EXTENTS AND EXACT LOCATION  

NEW RECESSED SLAB FOR QUARRY 
TILE; REF 5-S5.0; REF ARCH FOR 
EXTENTS AND EXACT LOCATION  

NEW HSS6x3x1/4

12

S5.0

4
' 
- 

0
"

1
0

' 
- 

1
"

C
L

 
N

E
W

 
C

O
L

7
'-
4

"

EXISTING 12" CMU 
WALL TO REMAIN

SLAB TRENCHING FOR UNDERSLAB 
UTILITIES, TYP; REF 5-S5.0; REF 
ARCH/MEP/REFRIGERATION FOR 
EXTENTS AND EXACT LOCATIONS

NEW 4" CONC SLAB AT HUMIDOR 
REINF WITH 6x6-W2.1xW2.1 WWF 
(IN SHEETS) AT MID-DEPTH; REF 
ARCH FOR EXACT SIZE AND 
LOCATION; PROVIDE (2) DOWELS 
AT DOOR LOCATION PER 5-S5.0; 
PROVIDE EXPANSION JOINT 
MATERIAL AROUND PERIMETER

9

S5.0

TYP AT 
BAR 
SUPPORT 
POSTS

=
 1

7
'-
0

"

4
 E

Q
 S

P
A

C
E

S
 A

T
 4

'-
3

" 
O

C

COORDINATE EXACT 
LOCATION OF BAR SUPPORT 
POSTS WITH ARCH

3 EQ SPACES = 16' - 1"

6

S5.1

TYP 15 
PLACES

COORDINATE EXACT 
LOCATION OF DSW 
WALL WITH ARCH

1
' 
- 

7
 3

/8
"

1
' 
- 

7
 1

/4
"

6' - 8 1/4" COORDINATE EXACT LOCATION 
OF WINE ROOM SOFFIT 
SUPPORT POSTS WITH ARCH

COORDINATE EXACT LOCATION 
OF WINE ROOM SOFFIT 
SUPPORT POSTS WITH ARCH

10

S5.2

10

S5.2

7' - 4"

8' - 0"

3' - 4"

8' - 0"

S5.0
2

ROT

S5.0
2 ROT, 

OH

7

S5.0

TYP, 4 
SIDES EXISTING COLUMN AND 

PEDESTAL TO REMAIN 

1

S0.1

S5.0
2

3

S5.0

3

S5.0

S0.1

2
ABOVE

SIM

SIM

ROT, 
OH

S5.0
2

4
' 
- 

1
0

 1
/2

"

7
 1

/4
"

4
' 
- 

1
0

 1
/2

"

4' - 4"
5' - 9 5/8"

4' - 8 1/2" 7' - 0" 7' - 0" 4' - 11 5/8"8' - 10 7/8"

9
' 
- 

0
 1

/2
"

18' - 6 1/2"

3
' 
- 

4
 1

/8
"1
6

' 
- 

7
 3

/8
"

6

S5.1

NEW WALLS THAT DO NOT 
REQUIRE LATERAL 
STRUCTURAL SUPPORT

COORDINATE EXACT 
LOCATION OF 
PARTIAL HEIGHT 
WALLS WITH ARCH

REF 6-S5.1 FOR 
SUPPORT OF TOP OF 
WALL AT FULL HEIGHT 
WALLS/COOLER 
SUPPORTED WALLS

CL
POST, TYP

TYP AT 
POST

1
1

 E
Q

U
A

L
 S

P
A

C
E

S
 =

  
7

1
'-
7

"

1' - 1"

6

S5.3

6

S5.3

6

S5.3

7

S5.3

8

S5.3

EXISTING STOOP 
TO BE REMOVED 
AND REPLACED

9

S5.3

JOHNSTON
B
A

URKHOLDER
SSOCIATES

c o n s u l t i n g  s t r u c t u r a l  e n g i n e e r s

930 C 

816.421.4200 ·

· K C MO ENTRAL ANSAS ITY, 64105 

WWW.JBAENGR.COM

DATE:DRAWN BY:

SCALE: JOB NUMBER:

SHEET:

NORTH

E
M

P
L

O
Y

E
E

 O
W

N
E

D

H
Y

-V
E

E
, 
IN

C
.

5
8

2
0

 W
E

S
T

O
W

N
 P

A
R

K
W

A
Y

W
E

S
T

 D
E

S
 M

O
IN

E
S

, 
IO

W
A

  
5

0
2

6
6

T
E

L
E

P
H

O
N

E
: 
 (

5
1

5
) 

2
6

7
-2

8
0

0

F
A

X
: 
 (

5
1

5
) 

2
6

7
-2

9
3

5

R

L
O

C
A

T
IO

N
:

REVISION DATE
BY

PROFESSIONAL SEAL

PROJECT MANAGER CHECKED BY:

JBA PROJ #: 19315 - JSH

3/32" = 1'-0"

5
/2

0
/2

0
2
1
 2

:4
5
:2

3
 P

M

S1.0

10/20/2020

20332

JBA

FOUNDATION
PLAN

L
E

E
'S

 S
U

M
M

IT
, 

M
O

BJHJSH

SCALE: 3/32" = 1'-0"

FOUNDATION PLAN
1

1

2

2

3

3

3

4

4

1 ASI #2 01/08/21

2 ASI #3 01/26/21

3 ASI #5 03/19/21

4 ASI #7 04/16/21

5 ASI #8 05/19/21

5

5

4

05/20/21



4
S5.1

B
S5.1

D
S5.1

D
S5.1

A

S5.
1

A

S5.
1

2A
S5.1

2B
S5.1

2B
S5.1

2A
S5.1

HOOD

EXISTING 
MTL DECK

EXISTING JOIST, 
TYP

ATTACH UNISTRUT TO JOIST 
WITH 1/2" DIA A325N BOLT THRU 
JOIST CHORD; PROVIDE LOCK 
WASHER AND DOUBLE NUT

NEW 1/2" DIA A36 THREADED ROD AT 
EACH CORNER OF THE HOOD; REF 
SUPPLIER FOR ATTACHMENT TO HOOD

NEW P1000 UNISTRUT; INSTALL 
PERPENDICULAR BETWEEN JOIST BOTTOM 
CHORDS; AT CONTRACTOR'S OPTION, 
UNISTRUT CAN BE ATTACHED TO TOP 
CHORD OF JOIST

ADDITIONAL P1000 UNISTRUT MAY BE 
REQUIRED TO ALIGN HOOD CONNECTION; 
FRAME ADDITIONAL UNISTRUT BETWEEN (2) 
ADJACENT P1000sTYP

PROVIDE DOUBLE NUT AND LOCK 
WASHER ABOVE UNISTRUT AND A 
SINGLE NUT BELOW

CONCENTRATED 
LOAD, REF NOTE

GREATER

3" OR

CONCENTRATED 
LOAD, REF NOTE

GREATER

3" OR

PROVIDE AND INSTALL FIELD STRUT (L2x2x3/16) 
EACH SIDE OF JOIST AT ALL LOCATIONS WHERE 
CONCENTRATED LOAD DOES NOT OCCUR WITHIN 3" 
OF A PANEL POINT. INSTALL ANGLE WITH ONE END 
AT LOCATION OF LOAD AND OTHER END AT A PANEL 
POINT ON THE OPPOSITE CHORD, TYP. ANGLES 
SHALL BE INSTALLED PRIOR TO NEW LOAD BEING 
APPLIED TO THE JOIST

TYP EACH
END EACH
ANGLE

1/8 1

1/8 1

TOP CHORD PANEL

BOTTOM CHORD PANEL
NOTE:

PROVIDE JOIST REINF IN ACCORDANCE WITH THIS DETAIL 
FOR ALL CONCENTRATED LOADS IN EXCESS OF 100 LBS.  
WHERE MORE THAN ONE CONCENTRATED LOAD EXISTS 
WITHIN A CHORD PANEL AND THE SUM OF THOSE LOADS 
EXCEEDS 100 LBS, PROVIDE JOIST REINFORCEMENT AS 
DETAILED SUCH THAT THE SUM OF THE LOADS WITHIN 
THE REMAINING UNSUPPORTED CHORD LENGTH DOES 
NOT EXCEED 100 LBS.

JOIST TOP 
CHORD

JOIST BOTTOM 
CHORD

NO TOP OR BOTTOM CHORD REINF REQ'D

"A"

REINF TOP & BOTTOM CHORD WITHIN THIS AREA

"B"

NO TOP OR BOTTOM CHORD REINF REQ'D

"C"

"D"

NO WEB REINF REQ'D IN THIS AREA

"E" "F"

REF SECTION B FOR 
CHORD REINF, TYP

ALL DIAGONAL WEB MEMBERS INSIDE OR 
PARTIALLY INSIDE DIMENSION SHALL BE REINFORCED

ALL DIAGONAL WEB MEMBERS INSIDE OR 
PARTIALLY INSIDE DIMENSION SHALL BE REINFORCED

GRID
X

GRID
Y

CHORD REINF
REF SCHED

TYP

6" 6"

ROD (MATCH REINF SIZE) x 1'-0" 
CENTER ON SPLICE

SECTION 5C - CHORD REINF SPLICE

WEB REINF 
REF SCHED

SECTION 5B - CHORD REINF

EXISTING 
ANGLE WEB

SINGLE ANGLE WEB

SECTION 5A - WEB REINF

REF SECTION C FOR SPLICE AS REQD

MIN

8"

MIN

8"

SECTION 5D - END WEB REINF 

1/8

PLATE TO
SEAT, T&B

(NS-FS)

NEW 3/16" PLATE CUT TO 
FIT NEAR SIDE AND FAR 
SIDE (FIELD VERIFY SIZE) 

1/8

3 SIDES
5" MIN TOTAL
LENGTH, EACH
END OF WEB
REINF

LOCATE WEB 
REINFORCEMENT 
ADJACENT TO EDGE 
OF ENDSEAT

REF SECTION A FOR
WEB REINFORCEMENT

REF SECTION A FOR 
WEB REINF, TYP

1/8

3 SIDES
3" MIN TOTAL

LENGTH, EACH
END OF WEB

REINF

EXISTING JOIST

EXISTING MTL 
ROOF DECK, TYP

REF SECTION A
FOR WEB REINF, TYP

BEVEL ANGLE ENDS AS 
SHOWN; ATTACH TO 
JOIST CHORD, NOT RODS

REF SECTION D FOR 
WEB REINF AT END 
DIAGONAL, TYP

EXISTING 
JST CHORD

CHORD REINF
REF SCHED 

1/8 2@8

1/8 2@8
3" WELD EACH
PANEL POINT
AND EA END
OF ROD

OH

ATTACH CURB TO ANGLE 
WITH #12 TEK SCREWS 
AT 12" OC

EXISTING ROOF 
DECK

ATTACH METAL DECK TO 
ANGLE WITH #12 TEK 
SCREWS AT 6" OC

CURB

ATTACH CURB TO ANGLE 
WITH #12 TEK SCREWS 
AT 12" OC

ATTACH METAL DECK TO 
ANGLE WITH #12 TEK 
SCREWS AT 6" OC

NEW L5x3x1/4 (LLH), TYP
NEW L5x5x5/16 (AT MAU)

EXISTING ROOF 
DECK

CL OF JOIST

3/16

3/16

1/8 1

1/8 1
TYP

2A-S5.1
2B-S5.1

CURB

PLAN VIEW-RTU

TYP

TYP

NEW L5x3x1/4 (LLH), TYP
NEW L5x5x5/16 (AT MAU)

C
L
 O

F
 J

O
IS

T

C
L
 O

F
 J

O
IS

T

R
E

F
 U

N
IT

 S
U

P
P

L
IE

R

REF UNIT SUPPLIER

C
L
 O

F
 J

O
IS

T

CL OF JOIST 
GIRDERGRID

FIELD VERIFY FIELD VERIFY

PLAN VIEW-EF

C
L
 O

F
 J

O
IS

T

C
L
 O

F
 J

O
IS

T

R
E

F
 U

N
IT

 S
U

P
P

L
IE

R

REF UNIT SUPPLIER

FIELD VERIFY

TYP

TYP

EXISTING MTL 
DECK

EXISTING JOIST

1/8 1

1/8 1
TYPNEW C12x20.7 CONT; 

CHANNEL MAY CANTILEVER 
1'-0" MAX PAST JOIST; IF UNIT 
EXTENDS FURTHER, EXTEND 
TO NEXT ADJACENT JOIST 
BEYOND EDGE OF UNIT

REF SUPPLIER FOR 
PREFABRICATED CURB

REF 4-S5.1 FOR NEW JOIST 
REINFORCING AT 
CONCENTRATED LOADS

REF SUPPLIER FOR LIGHT GAGE CLIP SIZE 
AND SPACING; ATTACH TO CHANNEL WITH 
(4) 0.157" DIA PAFs AND TO CURB WITH (4) #
10 WOOD SCREWS; HORIZ LEG OF CLIP 
SHALL BE LOCATED UNDERNEATH CURB 

EXISTING MTL 
DECK

EXISTING JOIST

1/8 1

1/8 1
TYP

NEW C12x20.7 CONT; 
CHANNEL MAY CANTILEVER 
1'-0" MAX PAST JOIST; IF UNIT 
EXTENDS FURTHER, EXTEND 
TO NEXT ADJACENT JOIST 
BEYOND EDGE OF UNIT

CURB BY 
SUPPLIER

REF 4-S5.1 FOR NEW JOIST 
REINFORCING AT 
CONCENTRATED LOADS

CONDENSER/PROTOCOL UNIT AHU

CONDENSER/PROTOCOL UNIT

AHU

ATTACH CURB TO ANGLE 
WITH #12 TEK SCREWS 
AT 12" OC

HSS4x4x1/4 WITH 
3/16" CAP PLATE 

NOTE:
REF ARCH FOR 4" 
STUD WALL BEYOND

EXISTING CONC 
SLAB TO REMAIN

TOS EL
REF ARCH

  3
'-

6
"

DIA

1' - 0"

C
L
R

3
"

400T125-43 CONT; 
ATTACH TO CAP PL WITH 
(2) #12 TEK SCREWS

REF ARCH FOR 
MTL STUD, TYP

L2x2x18 GA x 0'-3 1/2" WITH (2) #10 
TEK SCREWS EACH LEG

PROVIDE 18 GA x 3" WIDE STRAP 
BLOCKING WITH (2) #10 TEK SCREWS 
INTO MIN (2) STUDS

TOP TRACK AT FULL HEIGHT STUD WALL

600T125-43 CONT

JOHNSTON
B
A

URKHOLDER
SSOCIATES

c o n s u l t i n g  s t r u c t u r a l  e n g i n e e r s

930 C 

816.421.4200 ·

· K C MO ENTRAL ANSAS ITY, 64105 

WWW.JBAENGR.COM

DATE:DRAWN BY:

SCALE: JOB NUMBER:

SHEET:

NORTH

E
M

P
L

O
Y

E
E

 O
W

N
E

D

H
Y

-V
E

E
, 
IN

C
.

5
8

2
0

 W
E

S
T

O
W

N
 P

A
R

K
W

A
Y

W
E

S
T

 D
E

S
 M

O
IN

E
S

, 
IO

W
A

  
5

0
2

6
6

T
E

L
E

P
H

O
N

E
: 
 (

5
1

5
) 

2
6

7
-2

8
0

0

F
A

X
: 
 (

5
1

5
) 

2
6

7
-2

9
3

5

R

L
O

C
A

T
IO

N
:

REVISION DATE
BY

PROFESSIONAL SEAL

PROJECT MANAGER CHECKED BY:

JBA PROJ #: 19315 - JSH

As indicated

5
/2

0
/2

0
2
1
 2

:4
5
:2

6
 P

M

S5.1

10/20/2020

20332

Author

STRUCTURAL
SECTIONS &

DETAILS

L
E

E
'S

 S
U

M
M

IT
, 

M
O

ApproverJSH

SCALE: 3/4" = 1'-0"

SUSPENDED HOOD SUPPORT
1

SCALE: 3/4" = 1'-0"

JOIST REINFORCING AT CONCENTRATED LOAD
4

SCALE: 3/4" = 1'-0"

JOIST REINFORCEMENT
5

JOIST REINFORCEMENT NOTES

1. JOIST WEB CONFIGURATION IS SHOWN FOR REFERENCE ONLY, FIELD VERIFY ACTUAL CONFIGURATION
AND WEB TYPE.

2. ALL PAINT AND DEBRIS SHALL BE CLEANED FROM JOIST BEFORE WELDING REINFORCEMENT.

3. STEEL ERECTOR SHALL FIELD CUT REINFORCING TO FIT FROM STOCK LENGTHS.

4. EXTEND TOP AND BOTTOM CHORD REINFORCING A MINIMUM OF 8" BEYOND PANEL POINTS.

5. INSTALL WEB REINFORCING PRIOR TO CHORD REINFORCING. COPE OUTSTANDING LEG OF WEB
REINFORCING AS REQUIRED FOR PLACEMENT OF CHORD REINFORCING.

6. IF EXISTING JOIST BRIDGING INTERFERES WITH INSTALLATION OF REINFORCING, REMOVE BRIDGING AND
REPLACE IMMEDIATELY UPON COMPLETION OF REINFORCING INSTALLATION. IF BRIDGING TABS FOR
BOLTED BRIDGING INTERFERE WITH INSTALLATION OF REINFORCING, REMOVE TABS AND REPLACE
IMMEDIATELY UPON COMPLETION OF REINFORCING INSTALLATION. NEW CONNECTIONS SHALL MATCH
EXISTING.

7. JOISTS SHALL BE REINFORCED PRIOR TO INSTALLATION OF MECHANICAL UNITS OR HANGING LOADS.
ROOF SNOW LOAD SHALL BE REMOVED PRIOR TO JOIST REINFORCEMENT. REF 4-S5.1 FOR ADDITIONAL
REINFORCEMENT REQUIRED AT CONCENTRATED LOADS.

SCALE: NTS

RTU/EXHAUST FAN SUPPORT FRAMING
2

SCALE: 3/4" = 1'-0"

CONDENSER/PROTOCOL UNIT/AHU SUPPORT FRAMING
3

JOIST REINFORCING SCHEDULE
JOIST REINF

MARK CHORD REINF WEB REINF "A" "B" "C" "D" "E" "F" GRID X GRID Y NOTES

JR1 - (2) L2x2x3/16 0' - 0" 0' - 0" 0' - 0" 10' - 0" 0' - 0" 0' - 0" E F 1,2,3,6,7

JR2 - (2) L2x2x3/16 0' - 0" 0' - 0" 0' - 0" 10' - 0" 0' - 0" 0' - 0" F E 1,2,3,6,7

JR3 (2) L2x2x3/16 0' - 0" 0' - 0" 0' - 0" 10' - 0" 0' - 0" 0' - 0" G F 1,2,3,6,7

JR4 (2) L2x2x3/16 0' - 0" 0' - 0" 0' - 0" 13' - 0" 0' - 0" 0' - 0" B.1 D 1,2,3,6,7

JR5 (2) 1/2" DIA RODS (2) L2x2x3/16 6' - 0" 18' - 6" 6' - 0" 14' - 6" 1' - 6" 14' - 6" H J 1,2,3,4,5,6,7

3/4" = 1'-0"6

DSW/PARTIAL HEIGHT WALL

SUPPORT POST

1

2

3

3

1 ASI #3 01/26/21

2 ASI #4 02/05/21

3 ASI #7 04/16/21

4 ASI #8 05/19/21

4

4

05/20/21



108'-8"

PLATFORM FF EL

REF ARCH

TOW EL

REF 2-S5.3

PLATFORM FF EL
REF 2-S5.3

PLATFORM FF EL

REF 2-S5.3

PLATFORM FF EL

7A
S5.3

K

10

EXISTING 10" CMU 
WALL TO REMAIN 

1000S200-68 STUD 
JOIST AT 12" OC 
MAX, TYP

R
E

F
 A

R
C

H

2

S5.3

3

S5.3

3

S5.3

ADJUST JOIST LOCATIONS AS 
REQUIRED TO AVOID CONFLICT 
WITH EXISTING COLUMNS

ADJUST JOIST 
LOCATIONS AS 
REQUIRED TO AVOID 
CONFLICT WITH 
EXISTING COLUMNS

EXISTING EQUIPMENT AND SUPPORT 
FRAMING TO REMAIN; NEW 
PLATFORM FRAMING INTENDED TO 
BE PLACED IMMEDIATELY BELOW 
EXISTING SUPPORT FRAMING; 
BOTTOM OF EXISTING SUPPORT 
FRAMING 108'-9" (FIELD VERIFY)

1000S200-68 AT END OF 
EXISTING EQUIPMENT, TYP

V
E

R
IF

Y

F
IE

L
D

V
E

R
IF

Y

F
IE

L
D

3

S5.3

(2)1000S200-68 
STUD JOIST; THIS 
LOCATION ONLY

4

S5.3

SIM, 
TYP

4

S5.3

5

S5.3

REF ARCH

R
E

F
 A

R
C

H

4
5
°

4

S5.3
OH

4

S5.3

4

S5.3

OH

NEW L2x2x18 GA CONT, TYP 
WITH (1) #10 TEK SCREW TO 
JOIST; ATTACH TO EXISTING 
CMU WALL WITH 1/4"x1 1/2" 
TAPCON ANCHORS AT 16" OC

NEW L6x4x5/16 (LLV) CONT; ATTACH 
TO EXISTING CMU WALL WITH 5/8" DIA 
THREADED RODS AT 16" OC; DRILL 
AND EMBED 5 5/8" WITH HILTI HIT-HY 
270 ADHESIVE; PROVIDE ANCHOR 6" 
MAX FROM EA END OF ANGLE

2
"

EXISTING 10" CMU 
WALL TO REMAIN

(2) LAYERS OF 3/4" APA 48/24 
SPAN-RATED PLYWOOD 
SHEATHING; ATTACH WITH #8 
SCREWS AT 6" OC AT ALL 
EDGE SUPPORTS AND 12" OC 
AT ALL INTERIOR SUPPORTS

(6) #10 TEK SCREWS

NEW 600S162-43 AT 12" OC

NEW 600T125-43 CONT WITH 
(1) #10 TEK SCREW EA LEG; 
ATTACH TO EXISTING CONC 
WITH 0.157" DIA PAF AT 12" OC

EXISTING CONC 
SLAB TO REMAIN

EXISTING GRADE 
BEAM TO REMAIN

REF ARCH FOR WALL 
SHEATHING

NEW MTL STUD BRIDGING AT 
4'-0" OC MAX BY SUPPLIER

REF ARCH FOR ATTACHMENT 
OF STUD AT ROOF ABOVE

GROUT 12" MINIMUM ALL 
SIDES OF ANCHORS

REF PLAN 
FOR JOIST

1/8
EA JOIST

REF PLAN FOR 
JOIST, TYP

362S162-43 
AT 16" OC

362T125-43 CONT 
WITH (1) #10 TEK 
SCREW EA LEG

L2x2x18 GA CONT 
WITH (1) #10  TEK 
SCREW IN VERT 
LEG ONLY

1000S200-68 BLOCKING AT EA 
HAND RAIL STUD; PROVIDE 
L2x2x18 GA x 0'-4" EA END WITH 
(2) #10 TEK SCREWS EA LEG

SIMPSON H2A T&B, 
AT EA VERT STUD

PROVIDE (4) #8 SCREWS 
AT EACH BLOCKING 
MEMBER

REF 2-S5.3 FOR FLOOR 
SHEATHING

REF PLAN FOR JOIST 
(SKEWED AT SIM)

REF 2-S5.3 FOR FLOOR 
SHEATHING

REF PLAN FOR JOIST 
(DOUBLE JOIST AT SIM)

1/8 2-12

1/8 2-12
EA JOIST

REF 2-S5.3 FOR 
FLOOR SHEATHING

REF PLAN FOR 
JOIST (SKEWED)

EXISTING 10" 
CMU WALL 
TO REMAIN

PL 3/8"x14" CONT

BOS EL
REF ARCH

NOTE:
REF 1C-S5.0 AND 2-S5.3 
FOR INFORMATION 
SHOWN BUT NOT NOTED.

CL 
BM

SHIM PL 1/2"x2"xCONT 
(FIELD VERIFY)

1/8
EA JOIST

3/16 CL 
PL

1 1/4"

99'-0"
TOF EL

3' - 6" (x 5'-6")

TYP
3" CLR

3
' 
- 

0
"

C
L
R

4
"

(4) #5 T&B

#5 AT 12" OC T&B; DRILL 
AND EMBED 6" WITH HILTI 
HIT-HY 200 ADHESIVE

C
L
R

2
"

REF CANOPY SUPPLIER 
FOR COLUMN, BASE PL 
AND ANCHOR RODS

EXISTING GRADE 
BEAM TO REMAIN

EXISTING 10" CMU 
WALL TO REMAIN

NON-SHRINK GROUT AS 
REQD BY CANOPY 
SUPPLIER

1/2" EXP JOINT 
MATERIAL, TYP

SUPPLIER

REF CANOPY

CL 
COL

WATERPROOF BASE PL, ANCHOR 
RODS AND COLUMN WITH 
ASPHALTIC MASTIC BELOW GRADE 

99'-4"
TO EXIST GRADE BEAM EL

99'-0"
TOF EL

2' - 6" (x 7'-0")

3
' 
- 

0
"

C
L
R

4
"

(3) #5 T&B

#5 AT 12" OC T&B; DRILL 
AND EMBED 6" WITH HILTI 
HIT-HY 200 ADHESIVE

EXISTING COLUMN 
FOOTING TO REMAIN

EXISTING 10" CMU 
WALL TO REMAIN

1/2" EXP JOINT 
MATERIAL, TYP

SUPPLIER

REF CANOPY

CL 
COL

NOTE:
REF 6-S5.3 FOR 
INFORMATION SHOWN 
BUT NOT NOTED.

EXISTING 10" CMU 
WALL TO REMAIN

EDGE OF EXISTING 
COLUMN FOOTING 
TO REMAIN

REF CANOPY 
SUPPLIER FOR 
COLUMN, BASE PL 
AND ANCHOR RODS

NOTCH EXISTING 
FOOTING AS SHOWN

99'-4"
TO EXIST FTG EL

7A-S5.3

2
' 
- 

7
"

NOTCH EXISTING 
FOOTING AS SHOWN

EXISTING COLUMN 
TO REMAIN

SPACE TOP DOWELS 
TO MISS NOTCH

2
' 
- 

0
"

1' - 1"

NOTE:
RETURN NEW FOOTING TO 
EXISTING GRADE BEAM PER 6-S5.3 
BEYOND EXISTING COLUMN 
FOOTING EXTENTS

NOTE:
REF 10-S5.0 AND 7-S5.3 
FOR INFORMATION 
SHOWN BUT NOT NOTED.

EXISTING COLUMN 
FOOTING TO REMAIN

AS REQD
EXTEND NEW COLUMN 
FOOTING AS REQD FOR 
NEW STOOP FOOTING

POUR 4" ADDITIONAL CONCRETE 
ON TOP OF FOOTING TO MATCH 
EXISTING TOP OF FOOTING; 
FORM DECK NOT REQUIRED AT 
THIS LOCATION 

PROVIDE (2) ADDITIONAL 
#5 CONT T&B

EXISTING CONC SLAB  
TO REMAIN

1' - 0"

(M
A

T
C

H
 E

X
IS

T
IN

G
)

8
"

EXISTING GRADE 
BEAM TO REMAIN

EXISTING CONC SLAB  
TO REMAIN

NOTE:
REF 10-S5.0 FOR 
INFORMATION SHOWN 
BUT NOT NOTED.

DRILL AND EMBED INTO EXISTING 
CONCRETE WITH SIMPSON SET-XP

EXISTING DOOR TO REMAIN

JOHNSTON
B
A

URKHOLDER
SSOCIATES

c o n s u l t i n g  s t r u c t u r a l  e n g i n e e r s

930 C 

816.421.4200 ·

· K C MO ENTRAL ANSAS ITY, 64105 

WWW.JBAENGR.COM

DATE:DRAWN BY:

SCALE: JOB NUMBER:

SHEET:

NORTH

E
M

P
L

O
Y

E
E

 O
W

N
E

D

H
Y

-V
E

E
, 
IN

C
.

5
8

2
0

 W
E

S
T

O
W

N
 P

A
R

K
W

A
Y

W
E

S
T

 D
E

S
 M

O
IN

E
S

, 
IO

W
A

  
5

0
2

6
6

T
E

L
E

P
H

O
N

E
: 
 (

5
1

5
) 

2
6

7
-2

8
0

0

F
A

X
: 
 (

5
1

5
) 

2
6

7
-2

9
3

5

R

L
O

C
A

T
IO

N
:

REVISION DATE
BY

PROFESSIONAL SEAL

PROJECT MANAGER CHECKED BY:

JBA PROJ #: 19315 - JSH

As indicated

5
/2

0
/2

0
2
1
 2

:4
5
:2

7
 P

M

S5.3

10/20/2020

20332

Author

STRUCTURAL
SECTIONS &

DETAILS

L
E

E
'S

 S
U

M
M

IT
, 

M
O

ApproverJSH

SCALE: 1/4" = 1'-0"

PLATFORM FRAMING PLAN
1

SCALE: 3/4" = 1'-0"

PLATFORM FRAMING
2

SCALE: 3/4" = 1'-0"

PLATFORM HAND RAIL
3

1

SCALE: 3/4" = 1'-0"

PLATFORM FRAMING
4

SCALE: 3/4" = 1'-0"

PLATFORM FRAMING
5

1 ASI #7 04/16/21

2 ASI #8 05/19/21

SCALE: 3/4" = 1'-0"

AOL CANOPY COLUMN FOOTING
6

2

SCALE: 3/4" = 1'-0"

AOL CANOPY COLUMN FOOTING
7

SCALE: 3/4" = 1'-0"

STOOP AT NEW FOOTING
9

SCALE: 3/4" = 1'-0"

FOUNDATION AT STOOP
8

05/20/21


	Sheets
	S1.0 - FOUNDATION PLAN
	S5.1 - STRUCTURAL SECTIONS & DETAILS
	S5.3 - STRUCTURAL SECTIONS & DETAILS

	007 S5.1
	008.5 S5.3



